Real World 2 * Word Problems 2 A

# 1
	          GP = R x T               $18 = R x 3hrs

	============
	============

	          GP = R x T                GP = 6 x 8hrs


$18 = R x 3hrs
     R = $6     
$18 = $6 x 3hrs

$GP = $6 x 8hrs    GP = $48     
$48 = $6 x 8hrs

# 2

	GP = R x T               $24 = $6 x Xhrs

	============
	============

	        GP = R x T               $120 = $6 x Xhrs


$24 = $6 x T hrs     T = 4     
$24 = $6 x 4hrs

$120 = $6 x T hrs    T = 20     $120 = $6 x 20hrs

# 3

	   Total – Sale = Diff       $60 – $40 = $20

	============
	============

	P of Dec = |D| / OP      P of Dec = $20/$60


  P of Dec = $20/$60
P of Dec = 1/3

  P of Dec = 33 1/3%   Check: 33 1/3 of $60=$20

# 4

	 Retail – Wholesale = D    $100 – $80 = –$20

	============
	============

	P of Dec = |D| / OP          P of Inc = $20/$100


  P of Dec = $20/$100
P of Dec = 1/5

  P of Dec = 20%    Check: 20% of $100 = $20

# 5

	D = R x T        
	150miles = R x 3hrs

	============
	============

	D = R x T        
	200miles = 50 x T


150miles = R x 3hrs   R = 50mph     150=50x3

200miles = 50 x T hrs   T = 4hrs     200=50x4

# 6

	D = R x T        
	24miles = 4mph x T

	============
	============

	D = R x T        
	D  = 4mph x 8hrs


24Miles = 4mph x T hrs   T = 6hrs     24=4x6

D Miles = 4mph x 8hrs     D = 32       32=4x8

# 7

	I = P x R x T
	$600=$2000xRx15yrs

	============
	============

	I = P x R x T
	$600=$2000xRx20yrs


$600=$2000xRx15yrs
$600=$2000x2%x15yrs

 I =$2000x.02x20yrs
$800 =$2000x.02x20yrs

# 8

	I = P x R x T
	$ I =$5000x4%x10yrs

	============
	============

	I = P x R x T
	$ I =$200x4%x5yrs


I=$5000x4%x10yrs       $2000=$5000x4%x10yrs $1000=$5000x4%x5yrs 
$1000=$5000x4%x5yrs
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